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1. —REZVOUSE
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Bt
BEEIE H31.4RA| 58 6H 78 8H 98 (10 | 1A | 12B | 1A 2R 3R &5t
151F 2836 | 2922 | 2642 | 303.3 | 3143 | 268.7 | 305.7 | 2385 | 306.9 | 289.7 | 2385 | 2732 3,378.8
28R 2593 | 3261 | 2451 | 2682 | 262.2 | 2425 | 289.8 | 2157 | 276.1 | 262.3 | 216.9 | 2186 3,082.8
=Ll 5429 | 6183 509.3 | 5715 5765 | 511.2 | 5955 | 454.2 | 583.0 | 552.0 | 4554 | 4918 6,461.6
2 FROMERES
BEHREREA H31448118 5A78H 6A128 78178 8A16H 98258 10828 11888 12848 1A6H 2A5H 3A4H
BEEDD 124 | c 1042 1036 1029 988 993 993 994 960 926 905 947 977
PRI XRE 281 | °C 991 1024 1035 985 1019 996 950 999 954 935 938 976
KEFRICHRATD 186 [ °C 179 179 179 179 179 179 179 179 179 179 179 179
PRIEH ZBE 286 | °C 179 179 179 179 179 179 179 179 179 179 179 179
HARBD 15%F | ppm 14 9.8 36 1.9 1.9 7.3 15 1.6 15 1.1 1.0 44
—BILRREE 2547 | ppm 22 52 44 2.2 8.4 2.3 2.1 38 1.0 1.2 14 4.8
w = ERAIE ERAIE ERAIE EHAIE EHAIE EHAIE EHAIE EHAIE EREAIE EREAIE EREAIE EREAIE
KEHRIBFRICDULTIL, FRTI0R A D F H2BFE TO AR FEET B,
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BAfif ot
BEARMIEEEE  H31E 4R 58 6H 7H 8H 98 10A8 118 128 1R 28 38
8H 354| 98 3.10| 10A 302 38 299 8B 395 6B 342| 9B 359| 138 312| 9A 326| 98 333 18 322 118 332
17H 348 | 22H 357 | 208 3.13| 138 381 | 17H 332 | 18H 356 | 22H 416 | 260 380 | 198 3.17| 22H 446 | 14H 364 | 25H 363
INGo4)% | 298 338 31H 344 2680 394 | 268 356 278 265 31H 3.12 28H 349 278 342
(1-284F)
it 1040 | & 10.11 it 6.15| & 1074| & 1083 it 9.63 it 1087 B 6.92 it 9.92 B 7.79 it 1028 5 6.95
KIEWCA FRIR) 2L TIE. EAVRERE,
4 PHZDBEFEER _ _
H B B 1547 28R
] # - 1B 2[a1H 3@ H 4[EH 1B B 2[EH 3[EH 4 H
B 1R B H - 2019457 B 26 B (2019489 A 12 B |##sssttaiin] 202041 B 23 0 (2019457 A 26 B| 2019489 A 12 B | #ithstnsiaat] 2020481 H 238
A =& # E B & B - 9A21H 108 30H 128228 3A11H 9H21H 108 30H 128228 38118
j;] F U C A & E| «mN 0018 = = 0.01 0018 = = 0.01
- [ &2 B It B E ppm 0.48 - - 0.35 0.48 - - 0.35
E
# |EF B tY R E ppm 100 - - 90 100 - - 90
2 &£ K F B E| mgmN 100 - - 130 100 - - 130
4 4 = F #8] ng-TEQ/mN 0.097 0.16 0.63 0.14 0.097 0.16 0.63 0.14




